Parent Information: Number Patterns & Equations (2nd Grade)

Second grade students learn about even and odd numbers up to 40. They also find 10 more, 10 less,
100 more, and 100 less than a given number. Students use equations to represent and solve
problems.

You can find numbers that are 1 more, 1 less, 10 more, and 10 less using a hundred chart.
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You can find numbers that are 10 more, 10 less, 100 more and 100 less by using place value (adding
or subtracting one hundred) or with addition or subtraction.

458

There are 5 tens in this number.
One more ten is 6 tens, so 468 is 10 more than 458. 458 + 10 = 468
One less ten is 4 tens, so 448 is 10 less than 458. 458 - 10 = 448

There are 4 hundreds in this number.
One more hundred is 5 hundreds, so 558 is 100 more than 458. 458 + 100 = 558
One less hundred is 3 hundreds, so 358 is 100 less than 458. 458 - 100 = 358



Even Number: A number that can be divided into groups of 2 with no numbers let over.

Six is an even number because six can be divided into 3 groups of 2 with nothing left.

Odd Number: A number that can not be divided into groups of 2.

Seven is an odd number because when you divide it into groups of 2 there is one left.

Word problems can be represented by equations.

There are 6 birds in a tree. 2 more birds join them. How many birds are in the tree now?
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The unknown number can be the end result, or it can be another part of the problem.

There are 6 birds in a tree. Some more birds join them. Now there are 8 birds in the tree. How many
birds joined them?
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There are some birds in a tree. 2 more birds join them. Now there are 8 birds in the tree. How many
birds were in the tree at the beginning?
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